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Sub-Section Id : 86579989
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8657991684 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Richa as a one year old child used to call all small girls in her apartments as
‘papa’ and as she was growing started to call them by their names. This is an
example of this principle of growth and development
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Uniformity of pattern
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Development proceeds from general to specific responses
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Question Number : 2 Question Id : 8657991685 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following refers more to ‘growth’ rather than ‘development’
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Options :
Functional improvement
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Question Number : 3 Question Id : 8657991686 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to emotions
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Options :

Emotions have an impact on reasoning and thinking powers
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Emotions are not present in infants
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Same emotion can be aroused by number of stimuli
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Question Number : 4 Question Id : 8657991687 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. the factor that brings about the developmental task of
infants sitting without support 1=
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Question Number : 5 Question Id : 8657991688 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Kanchan 1s a 2 year old child. On hearing her grandfather say ‘donkey’ to her
sister in their house, Kanchan called her mother ‘donkey’ when she denied
chocolate. Kanchan's mother got furious. scolded her loudly and locked up
Kanchan in a room as a punishment. This type of crisis may develop this in

Kanchan according to Erikson
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Question Number : 6 Question Id : 8657991689 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following is majorly absent in Sensori Motor stage as compared

to other stages of Piaget's Cognitive Development
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Question Number : 7 Question Id : 8657991690 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following examples relating to individual differences, identity the one

on account of physiological difference
Jahis Fred Jo2obodS 8ob erdrdnadt, £5¢ &8, Howod Sore Sedsore SOR
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Options :
Adhira’s skin complexion 1s fairer compared to Aadya
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Anila has a positive attitude towards her work as compared to her sister
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Aruna 1s a fun loving person when compared to Ashvin
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Question Number : 8 Question Id : 8657991691 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following is NOT preszent at birth
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Question Number : 9 Question Id : 8657991692 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Chaitya in her childhood days was one day helping a stranger locate a house in
the neighbourhood and he tried to abuse her. She was saved by her neighbours
and handed over to her parents. Chaitya as an adult now does not remember
anything about the incident but is very afraid of talking to strangers when
alone. The defense mechanism involved in this example 1s
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Repression
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Question Number : 10 Question Id : 8657991693 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following. the method that suffers from the drawback in terms of the

subject responding in selective answers
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Question Number : 11 Question Id : 8657991694 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct statement relating to learning
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Options :
Learning has no purpose
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Question Number : 12 Question Id : 8657991695 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

(General intelligence and specific knowledge of the learner can be considered as
factors influencing learning under the category of
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Question Number : 13 Question Id : 8657991696 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Kamini's son Kailash likes spending time and playing games with his mother.
Whenever, Kailash shows good behavipur, Kamini brings new games to play
with him. This 1s in accordance with this law of learning of Thorndike
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Question Number : 14 Question Id : 8657991697 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A child whose fear of dogs was extinguished through a therapy suddenly
encountered a ferocious dog and the fear reappeared. that 1s to say that there
was a spontaneous recovery of the fear. According to classical conditioning, the
fear that reappeared 1s the
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Unconditioned stimulus
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Question Number : 15 Question Id : 8657991698 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Saraansh enrolls for all music competitions because he wins some of them
intermittently and uses the prize money for his family needs. The reinforcement
schedule motivating Saraansh is
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Fixed interval reinforcement schedule
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Question Number : 16 Question Id : 8657991699 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Pankaj is a five year old boy. His father has bought a toy bow and arrow for
him. He was trying to shoot arrow but could not do correctly. His father
intervened and showed him how to place the arrow on the bow and shoot after

which Pankaj learned to shoot arrows. This iz an example of learning as

explained by this psychologist
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Question Number : 17 Question Id : 8657991700 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a blind fold task, a teacher asked her students to recognize some spices by
smelling them. The domains of learning involved here are

P O LI R - 1 - 4 R T, e i e
2.8 5¢.% Hoden éef\ U'ﬁ_@”" R 12<:T..T’"EZI" Sooren #5 gJEI"-‘;ﬁ;ﬁJEu T?J“ N_phl':l':s C<m oo CEd D

o

e

Prad wPtiéo ere (D80 =808, :,é & Bl &) @gdd Sorren

Options :

Cognitive and affective

- ce;:cﬁ‘-‘ ¥ %850 sraras
Cognitive and conative

- ePPE 5 spBaln Semrd s
Cognitive, affective and conative
PSS, gRarald sp0ain demrds

3. %

Conative and affective



Question Number : 18 Question Id : 8657991701 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Grandparents’ unconditional love for their grand kids and the care they take of

them 1s an example for
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Question Number : 19 Question Id : 8657991702 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An experimenter has presented ten different things to his subject to memorise in
an order. Afterwards the arrangement was disturbed and presented again to the
subject to rearrange the things in the original order learnt. This method of testing
retention 18
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Question Number : 20 Question Id : 8657991703 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Akhil learnt about vegetation and weather of Asia in 10 days. To learn about

vegetation and weather of Africa he took 15 days. The reason for this among the

following 1s
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Question Number : 21 Question Id : 8657991704 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Karthika 1s a teacher committed to her students learning and always tries to
use as many ailds as possible in her class. Identify the most appropriate probable

reason among the following for Karthika's style of teaching
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Utilizing all resources of school
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Question Number : 22 Question Id : 8657991705 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following happen during the inter-active phase of teaching?
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Question Number : 23 Question Id : 8657991706 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher wanted to develop organizational skills of her students and has
identified a topic of ‘planning and conduct of school annual day’. She has
divided the class into groups assigning each of them one related task like,
decoration. guests to be invited, cultural programmes for the day, awards. food
and refreshments, etc. The teacher has asked the groups to come out with a

detailed plan of the activity assigned and present before the whole class. This

type of learning 1s
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Question Number : 24 Question Id : 8657991707 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the approach among the following that is suitable for inclusive practice
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Options :

Individualised Education Programme
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Question Number : 25 Question Id : 8657991708 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per Section 4 of the Right of Children to Free and Compulsory Education

Act, 2009 any child above six years of age who has not been admitted in any

school or though admitted could not complete his or her elementary education

shall be admitted in
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class 1 1rrespective of age and the class attended before
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Question Number : 26 Question Id : 8657991709 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the example for Norm-referenced test
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1. ®

CTET
2. ®

IIT-JEE
4 % NAS

Question Number : 27 Question Id : 8657991710 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The UN General Assembly Special Session on Children held in this vear adopted

an Outcome Document titled “A World Fit for Children”
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Question Number : 28 Question Id : 8657991711 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following does NOT relate to school as a learning resource?
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Learner’s background
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Question Number : 29 Question Id : 8657991712 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sandesh after graduation went abroad for higher studies. He wanted to correct
his English pronunciation and spoken language so as to able to communicate
effectively with professors and other students. The guidance needed here 1s
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Question Number : 30 Question Id : 8657991713 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following is NOT related to Bruner's theory of Instruction?
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Question Id : 8657991714 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Question Number : 31 Question Id : 8657991715 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 8657991716 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 8657991717 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

¢ Al P e o
LR @000 m.-’?,.-c-.-.:fv”';_d.,?

I

da

i

M ol oAl N L A s
2 D8rof 52 Sts Jnb

=

II_E

Options :

& o

6.0y
%8

gy

PJ&'rJ -
2.

) tosperss
3. %

&8ss
4, )

Question Number : 34 Question Id : 8657991718 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 86579991
Question Shuffling Allowed : Yes



Question Id : 8657991719 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
& 80h fid;0 6D 35508 38 I0H o P¥ o I35 Sdrprared hlodad.

SoolPera) @hdE dorrdd odibesorr DSdHodsm D 06SD, mo{?&
SHopcmd.  ©@othd”  @HEBorr  Cotd  D@Sed  Dod  Sndantié

|&J£JTE'O?::I'5”_JJ w% Ej Clf""l_”‘E"r""ﬂf:'I EN VA LA &E 85 g?‘i’;lﬁg o” 1818 3 PJOSS‘.:_*: \jc-.u_-'%' 3:; JE"

2.8 Hoe: jexyle Eidelelx 0. .88 D HBE HBdoiien P 30700 od) Jendb n0i0ts
JEDHE. Colddhd ﬁﬁ Frots ool o G_{Lu‘n 0 Mo TRaNTO -:\/,O{imhélﬁ;;;n‘_‘: el “Vohd
80 5P otol) SAD8H. B0 HBE JoPEHBS b berreshdoited), TN

]

Borror) SFGHen, Sodiy Hénoden, PO, ﬁfﬁ: Bony, e, E(:DEC:;{ f:; 2R e

&

@Ti‘laﬁ_la,, HAOAN Dolieen, Odonden. s éTJm:n AOmosPTeIred Fﬁuv Zenth erHedt

|§3§:'E-'E-::EJ & Ootd DJuk‘.‘JéL3 o ES Gl W éjh e, Ol cnde, 3 ::‘}EJFQ rolPeS t¢DJJT°‘.:_*#rjtJ L_-ru%l
§ 38 SBErE S50, B) EHhard 19255 HodéBos® Rleflod HiBE of ,EHGET™

&
o
|§°D§ﬁf_ﬂ:élﬁl Board o onBs 194?’5"5 mu).k‘_‘?éQJ cDBITPED ﬁ.d..c-) w(}?ﬁ@ \OPeD HEDRG.

Sub questions

Question Number : 35 Question Id : 8657991720 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 8657991721 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 8657991722 Question Type : MCQ Option Shuffling : Yes
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Question Number : 38 Question Id : 8657991723 Question Type
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes
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Sub-Section Number : 3
Sub-Section Id : 86579992
Question Shuffling Allowed : Yes

Question Number : 39 Question Id : 8657991724 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 8657991725 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 8657991727 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 8657991728 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 8657991729 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 8657991731 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 8657991732 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 8657991733 Question Type :

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 8657991735 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 8657991737 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 8657991739 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 8657991740 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[4% n..&:l Pt
C B0EEES 0 EPE, 96 DS b
ERRECE=] [y

D) 808 DoAhE,

Options :
o=y Bty Qe D—in

1. ®

A—iiB-iv.C—1,D—1i
2. %

A-iv,B—iii, C—ii,D-1
3. %

A—iw,B-13C-1,D-1

4.

iv)

eyt
otol 0000 EEC/E.

=

o Y o T 2Ty

n’."C'é Jodded LN W) 'DJlg(ﬁz
ey E— -

= L

)8 Dobx) dr@arersiocho §PR



Question Number : 56 Question Id : 8657991741 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 8657991743 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes
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Question Number : 60 Question Id : 8657991745 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Id : 8657991746 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for
each question.

The Border Roads Organisation (BRO) was raised on 7 May, 1960 to
secure India’s borders and develop infrastructure in remote areas of the North
and North-Eastern states of the country. The First Chairman of the Border
Roads Development Board (BRDB) was then Prime Minister of India. Initially.
two Projects were raised. For the Northern Sector. Project Beacon was raised at
Srinagar in the UT (then State) of J&K and for the Eastern Sector. Project
Vartak was raised at Tezpur in the State of Assam.

The BRO 1s a premier road construction executive force which iz an
integral part of the Indian Armed Forces under the Mimistry of Defence and
provides support to the Army. Over past 60 years, the organisation has
constructed more than 61,760 Km of roads, 976 permanent bridges, five tunnels
and 19 airfields under adverse chhmatic and geographical conditions. It has been
involved in development and maintenance of road network along India's border
areas and in friendly foreign countries. The BRO has its presence in 11 states
and three union territories including Andaman and Nicobar Islands, and
friendly country Bhutan. The Defence Minister acts as Deputy Chairman for the

BRDE.

Sub questions

Question Number : 61 Question Id : 8657991747 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement based on the passage.
Options :

The BRO has raised Project Beacon at Srinagar for the Eastern Sector.
1. %

The BRO has raised Project Vartak at Tezpur for the Northen Sector.



3 % The Prime Minister acts as the Deputy Chairman for the BRDB.

The BRO 1s a road construction executive force and works under the

Ministry of Defence.
4.« -

Question Number : 62 Question Id : 8657991748 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The BRO has been involved in development and maintenance of road network

along India’s

Choose the correct option to complete the sentence.
Options :

southern border areas and in all the foreign countries

1. ®
border areas and in friendly foreign countries
2.¥
border western areas and in friendly foreign countries
3. %
ocean border areas and in friendly foreign countries
4. %

Question Number : 63 Question Id : 8657991749 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the passage, the BRO has over past 60 years constructed more than

permanent bridges, Km of roads. airfields, and tunnels.

Options :
61,760;976;19;5

076:61.760:5:19
2. %



376:61,760:19:

.

ol

61.760:19:976;

N

Question Number : 64 Question Id : 8657991750 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option which is not relevant to the presence of the BRO.

Options :

11 states
1. %

North-Eastern Nepal
2.

three union territories
3. %

Bhutan
4. %

Question Number : 65 Question Id : 8657991751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the word from the passage which means “unfavourable”.

Options :

adverse
1.

friendly
2. %

remaote

premier



Sub-Section Number : 2
Sub-Section Id : 86579994
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 8657991752 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

time he reached the airport. the flight had departed.

Identify the appropriate option to complete the sentence.

Options :

Into the

By the
2. ¢

Whach the
3. %

By a



Question Number : 67 Question Id : 8657991753 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

18 located 1n

Identify the appropriate option to complete the sentence.

Options :

The Mount Abu; a hill station; the Aravalli Range

Mount Abu; a hill station; Aravalli Range

The Mount Abu; the hill station; an Aravalli Range
3. %

Mount Abu; a hill station; the Aravalli Range
4.«

Question Number : 68 Question Id : 8657991754 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The tired old man had on the floor.

Choose the correct option to complete the sentence.
Options :

L@ lain

lied
2. ®

lay

laved
4. %



Question Number : 69 Question Id : 8657991755 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The great innings of Virat in the final T20 match his career.
Choose the option to make the sentence grammatically correct.
Options :
) have been remembered throughout
1.

was changed
2. ®

have changed

has changed
4. ¢

Question Number : 70 Question Id : 8657991756 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The boy 18 short reach the switch board.

Identify the appropriate option to complete the sentence.

Options :

too. that
1. ®

to. too

too, to
3.¢

80, to



Question Number : 71 Question Id : 8657991757 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the appropriate option when the jumbled words/phrases are ordered.
the other side /1s always/on/The grass/ greener/of the fence

Options :

The grass always on the other side of the greener 1s fence.
1.

The grass is always greener on the other side of the fence.
2.

The always grass is greener on the other side of the fence.
3. %

The fence 13 always greener on the other side of the grass.
4. %



Question Number : 72 Question Id : 8657991758 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The country has been fighting against terrorism. However, 1t is a volce crying in
the wilderness.
The meaning of the expression “a voice crying in the wilderness” means
Options :
1s expressing a happiness, but the country’s voice is not being heard or

taken seripusly.

1s expressing a truth or warning and the country's voice 1s being heard or

taken seripusly.

1s expressing a truth or warning. but the country’s voice 1s not being heard

or taken seriously.

18 expressing his views in a low voice, and hence the countryv’s voice 1s not
I g \

being heard or taken seriously.



Question Number : 73 Question Id : 8657991759 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The father said to his son, “Are you interested in studies?”

Choose the reported sentence.
Options :

The father asked his son if he was interested 1n studies.
1. v

The father asked his son if he 15 being interested in studies.

2. ®

The father asked his son whether was he interested 1n studies.
3. %

The father asked his son that he was interested i1n studies.
4. %

Question Number : 74 Question Id : 8657991760 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the part with an error in the given sentence.

Neither the boy no the girl has done the work.

A B C D

Options :

: Yes

: Yes



Question Number : 75 Question Id : 8657991761 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I'm a soldier. >

Choose the correct option.

Options :

are [
1. #

aren't [
2.

am I
3. %

amn't [
4. %

Question Number : 76 Question Id : 8657991762 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option regarding the following statements.

A) He purchased two dozen bananas.

B} One million rupees 1s equal to ten lakh rupees.
Options :

Only the statement A is correct.
1. %

Only the statement B 1s correct.

Both the statements A and B are correct.
3. ¢

Both the statements A and B are incorrect.
4, ®



Question Number : 77 Question Id : 8657991763 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

her illness, Smrithi did not attend the meeting.

Choose the appropriate phrase to complete the sentence.

Options :
L@ In view of

o I

However
3. %

Even though
4. %

Question Number : 78 Question Id : 8657991764 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

After the accadent, the rescue team secured the of the

deceased.

Choose the correct option to complete the sentence

Options :

cropses

corpses

corpsls



Question Number : 79 Question Id : 8657991765 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes

The country should not adopt the appeasement politics.

Identify the antonym for the word, “appeasement”.

Options :
acquiescence
1. ®

reconciliation
2. ®

; % itigation

provocation
4.

Question Number : 80 Question Id : 8657991766 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentences.

A) It's quite nice, ?

B) Of course!

Options :
wasn't it: It'll

1. %

1s 1t: It's
2. ®

1sn't it: It's
3. ¢

1s 1t: It 13n’t

: MCQ Option Shuffling : Yes



Question Number : 81 Question Id : 8657991767 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The bull ran amok. The bull was hungry as well as angry.

Choose the correct option regarding the given sentences.

Options :

The bull was hungry as well as angry, but 1t ran amok.
1. #®

The bull 1s hungry as well as angry, and hence it ran amok.
2. %

The bull was hungry as well as angry, and hence 1t ran amok.
3.

The bull was hungry as well as angry, however it ran amok.
4. %

Question Number : 82 Question Id : 8657991768 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The army 18 ready for retaliation in the event of any misadventure from the
enemy army.

Identify the synonym for the word ‘retaliation’.

Options :

expneration
1. ®

revenge
2.¢

forgiveness

acquittal



Question Number : 83 Question Id : 8657991769 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Let’s first wisit the library for borrowing the books.
Identify the correct Passive Voice sentence for the given sentence.

Options :

Let’s the borrowing the books first be visited for library.
1. ®

Let’s the library being first visited for borrowing the books.
2. 8

Let’s the library for borrowing the books be first visited.

Let’s the library be first visited for borrowing the books.
4.

Question Number : 84 Question Id : 8657991770 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The act of vandalism 1s considered as a act.

Options :

sacrillegious

sacrilegeous

sacrilegious

sacrilegiose



Question Number : 85 Question Id : 8657991771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Oral reading fluency (ORF) is the ability to read

Options :

accurately and slowly.

fluently and slowly.

accurately and quickly.

accurately and silently.

Question Number : 86 Question Id : 8657991772 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Identify the principle of grammar-translation method.
Options :

Rote learning 1s discouraged.

The textbook 1s the only teaching-learning material.
2.

Learners learn grammar rules inductively.
3. #

Content 1s more important than form.



Question Number : 87 Question Id : 8657991773 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In English, a simple statement which begins with a noun followed by an
auxiliary verb becomes a question when the two words are reversed.

This language feature 1s known as
Options :

- Language 1s arbitrary.

Language 1= extendible.
2. ®

Language exhibits duality of structure.
3.¢¥

Language transmits culture.
4. %

Question Number : 88 Question Id : 8657991774 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which slall 1s most essential for writing a coherent paragraph?

Options :
Drawing
1. ®
Listening
2. %

Organization of ideas
3.¢

Reading newspapers regularly



Question Number : 89 Question Id : 8657991775 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India, the English language education was officially introduced through this
initiative.
Options :

Macaulay's Minute (1835)
1. ¢

Wood's Despateh (1854
2. %

Hunter Commission ( 1882)

3. %

Indian Universities Act (1904)
4 %

Question Number : 90 Question Id : 8657991776 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the instructional strategy that based on modelling and guided practice,
in which the teacher first models a set of reading comprehension strategies and

then gradually makes the learners responsible for these strategies.

Options :
Remedial teaching
1. ®

Reflective teaching
2. %

Corrective teaching
3. %

Reciprocal teaching

4. v



Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mathematics

86579959
4

Online
Mandatory
30

30

30

0

1
86579995
Yes

Question Number : 91 Question Id : 8657991777 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the points A(2,1),B(5,3). C(6,4)and D(1,7) are the vertices of a

quadrilateral ABCD, then the area of the quadrilateral ABCD (in sq. units) is

Sothaen A(2,1),B(5,3), C(6,4)
wond ABCD Sésye geveo (3. crdsd «8°)

Options :

28
1. %

14
2. %

46
3. %

L

i D(1, 7)en 2.8 S0 ABCD Ging; doren



Question Number : 92 Question Id : 8657991778 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a,b and c are any three non-zero rational numbers, then choose the correct
statements from the following
a,b %0050 ¢ en DP D ErRES wSBEcD Somen wond, Bo8 8 Mok JTH

3 e W T
crea aotnS 0.

&

%} _a—(b—c)=(a—b)—c
B)
C) a=d=+c)+(a=hb)=+c

a¥x{b¥xe)={(axb)xe

Choose the correct answer.
Q0K Darrard) dohEol.
Options :

AB&C

A& C (}1113'
A& Csrmgad

A & B only
A & B irgah

B & C only

B & C srad
4. ¢



Question Number : 93 Question Id : 8657991779 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A chord 10v3 em of a cirele iz making an angle 120 at the centre. then the

diameter (in cm) of the circle is

o = & Z v L g A L
10v3%0.30. sPED e e@; Sofo H8 120 Sso B0b, @ HyEo &L,

0

S
2.5 sdo O_u,-éér

P00 (R0.80.08%)
Options :

10
1. ®

1043

s % 20V3



Question Number : 94 Question Id : 8657991780 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the mode of a grouped frequency distribution is 52. lower boundary of the
modal class 15 40. class size 15 15, the frequency of the class preceding the modal
class 1s 3 and the frequency of the class succeeding the modal class 1s 6, then the

frequency of the modal class 1s

h"{ = e [} 2 L e e - e £ e = = 4 /s
D058 TH3a)Ry Deresdein OISy erTuEEaD 52, graTuds 8618 aws, 6bs =t 40,

&
ePeTOEE B0NGS SHard Xy 8018 GnE) FPHiadem 6 wond, PuEs S5NG dns,

=

L
5 % 10
21
3. ®
6



Question Number : 95 Question Id : 8657991781 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
IfAcBand n(A) =6, n(B) =10, then n(B— A) =
AcB&6cinn(A) =6, n(B) = 10 won=, n(B— A) =

Options :
1. % 6

10
2. %

16

4.9

Question Number : 96 Question Id : 8657991782 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If the supplementary angle of 60 is ‘x’, then the conjugate angle of ‘x" 1s

fr? A Lo
i D_:!'J.ié_;_ -."J{-'O‘?’J.-'IH:IE =R-Te!

T

il

= - £ 5
60 :Ho:rts Smo ‘X ®on

Options :

;v 240°

330



Question Number : 97 Question Id : 8657991783 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A path 3m wide 15 running around a square field of area 729 sq.m., then the
area of the path (in sq. m.) is

- -

’ Gy, o ol a Do e i a o e Gy, el oo s 5 2 o

729 #.50. fie 2.8 S&SErsed Drrdo e 3db. dtten) e eréy Soth. aré
3 2o e

Options :

360
1. ¢

171
2. %

180
3. %

162



Question Number : 98 Question Id : 8657991784 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

2

In a right angled triangle ABC, right angle 1s at C. If sec B = e then
V

cosAcosB 4+ sinAsinB =
vy o .y, oF s e 2 =
C & woe8’=0 é@;'-?::. wo08s Hihao ABC &° secB = — wone,

V3

cosAcosB 4+ sinAsinB =

Options :

. I%

ks

2.¥

b |

o | w



Question Number : 99 Question Id : 8657991785 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The smallest number by which 21,168 should be divided to get a perfect square
1s
21,1683 o) 835 Somg3 grhod HBIEY o wH@ob.

Options :

4

Question Number : 100 Question Id : 8657991786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the mean of x,, x,, x5, ... ... ..., X, 1s X and the mean of y,, ¥, ¥3, -« «e. ..., ¥, 18 ¥,
thenthemeanofx;, x5, x5, - o o X0, Vi W2, Vs o o o Pl
X1, X2, X2y eer ven ene y Xy C30BY, SI9ED X 50OADD Y1, V25 ¥2s wvv eer von » Yn GI08) Siié0 § @ona,
X1, X2, X3, e vne won s Xis Vo Y2, V2, cee oe oo » Vn A0, Si€0
Options :
L% Xy

x4y

Zn

2. %

x+y
3.8 T

7

4.



Question Number : 101 Question Id : 8657991787 Question Type : MCQ Option Shuffling
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct statement /s from the following related to sets.
Sob TEE Dol Shiked Sonobod) 0 & /e ao0Hsiol.
A)  Every set 1s a subset of itself.
98 508 A5G 6HIDHS.
B) Cardinality of a null set is zero.
A7 hd ﬁ):é& 5‘*@@5 Q0g; o).
C) An empty set 1s a finite set.
Ay 8bE HB6InE Db o).
D) Intersection of two disjoint sets is a non-empty set.
Dang Hinde FoHo FrEE HHs 0HHod.
Choose the correct answer.
H0% HEPPTed) JoihE ol
Options :
A Bé& Donly
A B& DirEah
1. ®
A & B only
A & B Srgad

A B& Conly

A, B& Csmsd
3.¢

B.C & D only
B.C & D irEs

: Yes



Question Number : 102 Question Id : 8657991788 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of common terms in the two arithmetic progressions 3, 8. 13, 18,

__...78 and 12, 15,18, ______99is
3.8,13, 18, .78 %86 12, 15. 18, ____,99 &3 Bt wo¥ @hed® Fsrs; s
2og;

Options :

13
1. ®
6
2. ®
3. % .
s



Question Number : 103 Question Id : 8657991789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The quotient and the remainder when x* + 11x® + 14x% — 85x + 55 is
divided by x + 5x — 5 is
x¥4+ 11x3 4+ 14x% —85x 4+ 555 x24 5x— 53 gPACDRND griideo $HBakn
3530
Options :
quotient = x% + 6x — 11, remainder = zero
risoo = x2 + 6x — 11, 30 = Soary
1. ¢
quotient = x* + 3x — 6, remainder = x — 25

apiidoo=x2+ 3x — 6, 380 = x — 25

2. %
quotient = x* + 6x — 4, remainder = x — 30
riHeo = x2 + 6x — 4, 300 = x — 30

3. %

quotient = x? 4+ 4x — 11, remainder = zero

piBeoo = x2 + 4x — 11, 350 = oy

(=8



Question Number : 104 Question Id : 8657991790 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the speed of two trains are in the ratio 23 : 14 and the first tramn travels
1656kms in 12 hours, then the speed of the second train is

P o ; e e 5 e o il adad s
Gotd B¢ atfo 23 : 14 &S Garyow, ot Cen 12 Hobwd” 1656 S.cb Edirsa,

3

A= D - ry
Cotia) Gen afio oJo?

Options :

72kmph

Ko 72 &8s,
1. #

S4kmph

Hoéd 84 &.5;.
2.

118kmph

Hoed 118 8.5,
3. %



Display Question Number : Yes

Question Number : 105 Question Id : 8657991791 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A sum of money invested at 5% per annum for simple interest amounts to

£17.160 1n 2 years, then the compound interest on the same sum for 2 years at
5% rate of interest 1s

Bo# mran; 2 5%

2) : SodETred aroede HGE° Zndo T17.160
w508, &8 Pang 5% 5E s’ 2 SosEred edl; SESE

Options :

71599



Question Number : 106 Question Id : 8657991792 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following statements related to volume and total surface area of solid

objects.

2808, 308 HBITEs0 $BAW Hosrd do Jarerds So2ofodd argredd Stdok.
) G

RS
A) If the volume and total surface area of a hemisphere are numerically
equal, then its radius is 9 units.

2.5 @gﬁsﬁo {:;?_.:.;-éér s mBsTres0 B Hosed &

; g Javero dogrnbort Hardorr

Iy
608, & ofF"Fo %, ;g 9 chrdey.

B) If the volume and total surface area of a cube are numerically equal, then
the edge of the cube 1s 6 units.
2.5 ndo o?a:éé PoRnbiireso HBd Hoird do Jreo dograborr Jardorr
808, @ o GwE; 2hao 6 cIrdey.

Choose the correct answer.

H0® BErraedy doihE ol

Options :

Both the statements A and B are true.

CotD arpen A sHBain B {50852,
1. % B
Statement A 1s true and Statement B 1s false.
. alPsEs A ﬁ@é& Sobdn & ass B 85006,
2.
Statement A 1z false and Statement B 1= true.
orgr A 285706 50600 oy B 50858,
3.¢

Both the statements A and B are false.

ot ampren A sp8din B H830.



Question Number : 107 Question Id : 8657991793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a class of 40 students with roll numbered from 1 to 40, even roll numbered
students chose Mathematics and those whose roll numbers are multiples of 3
chose Biology. Then the number of students who did not choose any of the two
subjects 1s

1 Zoof 40 3585 S Hoggen &85 40 Hhod Aueg Se B8RS, ¥8 B domen &5

ATgen HeEra) alothBHah bdn 3 GE) Melaren &) B doge TS EHaari)

LA
Ef"\
E‘ J

- = - - R e TV —3 & r"':ua'~ &y o -
oJOtDBT 0. @ay i) Cold N@m&ﬁ‘* 5o DTS e MET;_@E_, STt vy
= =M

Options :

3. ®

LS
fad



Question Number : 108 Question Id : 8657991794 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose a number from the following which is divisible by 7.

Ry o ol = (LR T (Y 1V SRSEE R WIS,
Eob srdE” ol 72 grfodat 2.8 Do wowhEoll.

Options :

658321
1. ®

762149
2.

450063
3.

020710

4.9



Question Number : 109 Question Id : 8657991795 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Kamala went to a shop to buy a sewing machine. The selling price of the sewing
machine is 713,500 after a discount of 20%. then the marked price of the sewing
machine is

Se Hitp RN FERS o8 Gl 38,06, 20% Hidsn (8708 ) U8 Hin DAY
il 2

59,853 Jo 713,500, @ond Hén hae Gns; H8LS do

Options :

716875
1LV

210125
2. %
, % 11250

715,750



Question Number : 110 Question Id : 8657991796 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose quadrilaterals from the following in which each of the angle is a right
angle.
BoB 8" 58 BPpior eonsieo e sob DG EPeD JoHE ok,
A) Parallelogram
RP5LTe lale) 1“3{'&}&;_9&5
B} Rhombus
Db Hiddymo (TPoaR)
C) Square
Se0dEi0
D) Rectangle
ajotat Tolale
W
Choose the correct answer.
209 SSrrard) Jothsiod.
Options :
B & C only
B & C srEsh

B, C & D only
B.C & D sirEd

C & D Glﬂj.'

C & D simgad
3.¢

A & Donly
A& Dimgs



Question Number : 111 Question Id : 8657991797 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following statements.
ofh sy Stod.

A) If0 < 0 <90, then (tan® + cot8)? = sec? 0 cosec?H

‘irm

0" <8 <90 @wons,(tanb + cotB)? = sec? B cosec?
B) If0 < 0 <90, then (tan® + cot0)? = cos? 0 sin® B

0" <0 <90 @wons, (tanB + cot8)? = cos?Bsin? O
Choose the correct answer.
385 SSrrraed Jodhsiod.
Options :
Statement A 12 true and Statement B 1s false.

aerdr A S8X58 98c srsy; B $85°08.
1. ¢

Statement A 1s false and Statement B 1= true.

WU',_ A Jbsedf HHodn L"UBI:\SEE/EJ

Both the statements A and B are true.

Coth arspen A $06dn B 135352

Both the statements A and B are false.

Cotd aesgren A sh8din B 56s03.
4, %



Question Number : 112 Question Id : 8657991798 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If one ticket 12 randomly zelected from tickets numbered from 1 to 50. then the

probability that the number on the ticket 1z a multiple of 4 or § 1s

“ik
|24

iy A W gRT e a7y B
ol dirdyiBore 2.8 €560 Joas

o

3t

1 $908 50 555 Sogen @ahal &5 58

‘o 4 B 8 Mmoo e Hogrd-d

i
S
al
4
oy
.
=
o
gk

Options :

o
| % 25
6
25
2.¥
3
25
3. %
12
25



Question Number : 113 Question Id : 8657991799 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The roots of the quadratic equation v5x2 — 18x — 8\/5 = 0 are
Vv5x2 — 18x — 8V5 = 0 58u88mo Gng; Sureren

Options :
2

1% V5 i
il — 445
V5’

2. %
& 45
&

3. %



Question Number : 114 Question Id : 8657991800 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The base of a cone and a cylinder have the same radius 12em and same height

16cm,then the ratio of curved surface of the cone to that of the cylinder 1s

53

2.8 f°go HHBo 2.8 o 2.8 ¢ rPo12R0.8. 8D .8 28 1630.5.

¥,
229

dimaeyon, @t A'¥o shbdin drdoe Gng) HEde Javeine Jd

o L

Options :

3:8
2. ®

5:8
3.¢

3:10



Question Number : 115 Question Id : 8657991801 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the formative assessment tools from the following:
806 rfS° Joerds Hobod e MHbodod:
A)  Annual exams
PB% H5B%5en
&
B) Project works
arEE Dien
C) Slip tests
D Srpen
D) sslgnments
I OOT° 2357 e
Choose the correct answer:

o e - i
Bl ) W{:-_I.J'L‘]'wcru::“ woiSof:
1 . e

Options :
AB& C {}111_1,'
A B & Csrgad

1. ®
A, B & Donly
A . B& Dirgsd
2. %
B. C & D only
B, C & D&rEad
3. ¢

ABC.&D



Question Number : 116 Question Id : 8657991802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the benefits to the mathematics teacher through the lesson plan
writing from the following:
8of 8BSt Gploltstal- et Rariiog ﬁa%é?":‘;f'mmn;di::fﬁ 507 pAireTred 10BoHok:
A) The objectives to be achieved through the topic can be clearly established
i advance.
QT“E'”;D% o WeLTe ﬁ”ﬁ@ﬂ‘*@p‘jﬁ *3_':13_"-‘;?_:-&- Snothra r:;;@f::ﬁ“ S’J--ﬁ;ﬁ:s_;gaﬁtﬁ:;;fﬁ.
B) Teaching can continue effectively with the available resources and
equipment.
sotherénd® 6% $5hen HBA HBETres” 58 Shlbodkonr
5¥rA0EHE .
C) There is an opportunity for a systematic evaluation.
Banaldalhsd drorosrls essedo 6onod.
D) The teacher has an understanding of which unit to teach in which

month.

.
&t

Br

e

Bn

GrDe S Bors &SrTranDE wATITS Gotnod.
Choose the correct answer:
R0 DrraEdy oS ok

Options :

A B & anly

A B& Cirgs
1.

A.B& Donly

A.B& Dsrgd
2. ®

B, C & Donly
B.C & D irEd



ABC&D



Question Number : 117 Question Id : 8657991803 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the statements related to the wvision of the National Curriculum
Framework (2005) on mathematies education from the following:
Sob TEE HBg Jp eCH Ay PerdE dpo (2005) Gng, TORESS
A)  Children learn to enjoy mathematics rather than fear it.

Hoen 8@l FoDBhsto o8 ebobodto 3 Hotrd

B) Children learn mathematics beyond just formulas and mechanieal

procedures.
spen NedEed)) Sdeo drgren A dro@s dprare Soll e

B lerpisslelaLlov

C)  Children pose and solve meaningful problems.

#

2 o oy w o }
86D @850808 Sihdied dofod) D88
e TR b rry

D) Teachers engage every child in class with the belief that everyone can

learn mathematics.

558 2,88 Hederd) 38,5 el $5808° airmrdines S5HES° {8 Hoardd
Qoo Barh.

Choose the correct answer:

e TV gu— G P = o a-

edled cdol o n,cl o Or S Ol

Options :

3.

A B & Conly
A B & Cirgad
#®
A. B & Donly
A B & Dirgad
s
B. C & D only
B. C & D ior@sd
W



ABC&D

Question Number : 118 Question Id : 8657991804 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is NOT a characteristic of the local curriculum in

mathematics education:

--

Sob arB&° 2,56 Hede DifsS S ey PEreS oFmo I8!
Options :
It incorporates local traditions. measurement systems, and problem-

solving approaches to make mathematics more understandable.

a

F —Q 5 &3 -
88 Hderdy HBod olhaer IEHTIE PIE SoFmrdiren, Fod &

[

2] ?;k

| % 0B Dy HBeRS dTraren 5DA Goénod.

It focuses on real-life problem-solving and the integration of math
concepts Into everyday activities and professions.
28 e 238 Sl aﬁ&ﬁﬂgtﬁoﬁg Bia DWod HHBAW Medd rddedn Berard

USeralen 80 HyHe ’cf| Ptebated ms 2DR0H.

a_

It does not foster interest in learning mathematics among students

3 @ 88 Jrpthed 5° 1eBe e9gfrddo He @b Dodroboith.

It 1s tailored to the learning atyles, interests, and backgrounds of students
in the region.
o

™ s .
88 & Frodos Y Do &eo ©ersd Fonen, BdHen HBSH Ihwred edibsorre

&0tnod



Question Number : 119 Question Id : 8657991805 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the topics that can be taught using the abacus among the following:
EoB ;8&’ P eedifo e &eodie vomed DBodod:
A) Place values
Arisleniien
B) Addition
Rofaio
C) Subtraction
B8eo
D) Geometrical shapes
2: 20800 ezoTren

Choose the correct answer:

P

[ i oy -y Ny B

v.'\.-“"j% odod)” rv'cwc‘ w05 ol
al L

Options :

AB &I C Gn]y
A B & Csmgsdh

1. ¥
A, B& Donly
A B&Dirss
2.
B.C & D only
B.C & D srsd
3. ®

ABC&D



Question Number : 120 Question Id : 8657991806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The academic standard that can be assessed through the question, “How 1s a

cube different from a cuboid?:

E

“2.8 $do, B hdo Do Jer HHom Sotwod?” @B B o HdoH Tchie o
[SEvlTek

Options :

Problem solving

Hoare i
1. %

Reasoning and Proofs

SOETReN —) S RIERED
2. ¢

Application

3 ® il a e

Connection

SRINOTPR0
4, ®

Science

Section Id : 86579960
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 86579996
Question Shuffling Allowed : Yes



Question Number : 121 Question Id
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Prezssure 12 a:

S ot ¥
oo 2u5:

Options :
Vector quantity

W 7
R0 T3

1. ®
Scalar quantity
wdE Tod
2.
Unit of temperature
GEDS IS Haireso
o
3. ®

Fundamental quantity

At 2 o
sre Trd

: 8657991807 Question Type : MCQ Option Shuffling : Yes



Question Number : 122 Question Id : 8657991808 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. which constellation 1s NOT wisible from Telangana, India?

: o of it o ; o
Eod B, grl8ndod ™) Buorre Dok ENNOWNR S5B80°3 087?

Options :
Orion

5.8605

Crux

EEN
2.

Saptharshi

SPsle
-



Question Number : 123 Question Id : 8657991809 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The refractive index of the material “sapphire” is
“DedB (006 )" o3 Hordo GnE; 58
\ a A ,: .'EI' -

Oy sl
= o e 2
oacy (UEB50

Options :

L33
1. ®

1.52
2. %

L.77
3.¢¥

2.42

: MCQ Option Shuffling : Yes



Question Number : 124 Question Id : 8657991810 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify from the following, the correct set that contains the four quantities

which play an important role in describing the nature of a sound wave

h R - - » # A &
ob TPEE, -9 BSoiio TS Lrerardy DSBoSEod® Sngrah
(-1 o

1
o [g s

e

orHe D500 N A hbodbol
Options :

Frequency, wavelength, amplitude, and speed

2rasaio , 800800, 5028 HB5LE HBdm o
A

1. ¢
Frequency. temperature, amplitude, and pitch
FPeayizo, S5FNE, ond HOME HBAW &S
2. &
Intensity, colour, speed. and wavelength
5:0 HSE . Boih, B0 HBAH BRGS0

Amplitude, intensity, colour. and pitch

S0 HBS, -0 SP3E, Jord HBAM Hd



Question Number : 125 Question Id : 8657991811 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 1 L of water is heated for a certain time and its temperature rises by 2°C. then
if 2 L. of wateris heated for the same amount of time with the same heat source,

how much would itz temperature rise (assuming no heat loss)?

931

1 Deato HBD 2.8 WE’}G,\ S3ncho arén S& F";_\,: T ﬁo{%lh{'ﬂ 2°C 28AE. o5 ﬁaﬂ_ s0TPe0
2 D68 A8 ©o8 SHcho drin I& TR, TR SELNE Jod DHIDHFOE

Nay0 Bt edsonro )?

(&

g5

Options :

I.

1
' 4

-5 6



Question Number : 126 Question Id : 8657991812 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two people push a car for 4 seconds with a combined net force of 400 N. What
is the impulse provided to the car? (In newton seconds)

355 sfhen 400 N 88 008" 52t 4 DEF srén P, 52HE vododals BE B0

2

Do#? (Srel ESSY)

2 ™~

Options :

100
1. ®
L % 400
300
3. #
1600

4.



Question Number : 127 Question Id : 8657991813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A wire of length 0.5 m carrying a current of 4 A 1s placed perpendicular to a
uniform magnetic field. If the force acting on the wire 1s 2 N, what 1s the
magnetic flux density of the field (in Tesla)?

4 A D @Hirod 0.5 oed PED He &0 2508 edharod

1. ® 4

1.0
2. ¢

2.0
3, %

4.0



Question Number : 128 Question Id : 8657991814 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct answer:

Sob arspres G962 208 ddrgrio notHSioh:

Statement I : In a series connection of resistors, the current I is constant.
seses 1 . D8 e @68 Hordodt, O 058 EaPsro Irun‘n-E &oénod.
Statement II : In a parallel connection of resistors. the voltage V 1s constant.

A

aesgpe 11 . D8P ore BT oss Bordost, ':foﬂ Y ? Dol &oénod.
Options :
Only Statement I is correct

"‘a.. I-:-.u -::H...- m"@éa

1. ®
Only Statement II 1s correct
e IT sesad $5058
2. % N
Both Statement I and Statement II are correct
aecse I 30805 amsgy 11 o 25082
3. %

Both Statement I and Statement Il are incorrect

aecs I 308t aesgy 1 Cotlr 85002

=



Question Number : 129 Question Id : 8657991815 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following scientists DID NOT work on atomic theory:
& Bob >HPEes® 2.8 H85rm E;fgc}éo;_' 50 WahSd:
Options :
John Dalton

E
Tt

q

=]

2m

<D

TPea Ta0ED
1. & [

n

J.J. Thomson

==, E:-‘"‘é:fﬁ
2. %
Izaac Newton
E :
BWEPS cIIPEDR
3.¢

Niels Bohr

e
2O
&



Question Number : 130 Question Id : 8657991816 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Common salt (NaCl) 1z NOT a direct raw material for the following material
rrdes 633 (NaCl) Sob Soroeds @5 sné Hurdo S0t
Options :

Caustic soda

g5 e

moe
o

Bleaching powder

of 2rH8

353?1

Bnkjng soda

; % ®50h &P

Glass

ez
4.



Question Number : 131 Question Id : 8657991817 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the latest IUPAC recommendations. the unit “amu’™ has been
replaced by “u’, which stands for:

e

zezr ITUPAC B3rdyye 5080, “amu’’ aOrdés Jpdos® “u” $9,08, B3 efo:

Options :

Unified mass unit

D_,'g?f I_E c%,_‘g":'% ig_-c-l 30
1.«
Unmeasured atomic unit
eaiTPey; 8aiPeR ([HaiPEe0
2. %
Universal molecular unat
:_\.-'.'“ n':lc"-"g B0ERD IDuC-.JJ bl
3. %8

Unique matter unit

B HPY (Hiireo



Question Number : 132 Question Id : 8657991818 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The tendency of an atom to lose electrons to form Cations or gain electrons to
form Anions depends on several factors. Choose one from the following which is
NOT such a factor.

2.5 20 ;E-%pdﬁﬁ; &% on ciPEed D5 USE0 8o desSod SPod wssirEes

r__ ot =B
555%0 936 o8 $08 wodo PR

®
e}
%
(tl
[e I.I
H]
Y
[ 5
E

."h
D

6

e
]

e

o
o
)
L'_‘?r
I'HE;
%

o

aotHsRod

Options :

Atomic size

2057780 20 E0

1. #
Ionisation potential

odHdE5ns $8

2. 8 -
Electron affinity
D,US""-:\.- -:u_q.m,‘ﬁ

3. %

Number of neutrons

4. ¢



Question Number : 133 Question Id : 8657991819 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following Assertion ‘A’ and Reason ‘R’ regarding photosynthesis.

Edesesd; Dodirn5oh% donobod) Sod 8N “A’ $h8dn 8o ‘R S8508.

A)

The coloured substances in leaves like Chlorophyll. Phycobilins and
Carotenoids take part in photosynthesis.

=

< 4 —_,,-u-l: e £ £y & [
JEred” 606 %‘"{:‘E:lm. 315 ?EAKE s08din S8@arontd Holl Boib HwrTren

Carotenoids and Phveobiline aid in the process of photosynthesis by
i P P 3 3
passing on the energy of sunlight trapped by them to Chlorophyll.
S6°romt) Hbcn 20N HrdrostD $82 BERE% Hoddo weioe
E ] £ - ol O

E8eseatd; ol r"‘w'%diﬂé’g HeFchad@ron.

Choose the correct answer:

nﬂ?ﬁ s LPel” n.J" 005 D&

Options :

‘A’ & ‘R’ are correct but, ‘R’ is not a correct explanation to ‘A’.

:"L & R {\.,3\:6;:] E:'v:\ R ijl.. g fw"jé {:TJH":jEEJ F":‘EL,’J..,

‘A’ & 'R’ are correct and ‘R’ is a correct explanation to ‘A".

‘A* & R’ 5359 $bcm ‘R, ‘A’ 8 538 D55m.

2.

‘AT
AT R

.11'
4.‘%_

iz correct & ‘R’ is incorrect.

358 & ‘R’ %80,

is incorrect & ‘R’ is correct.

5 & ‘R 5558.



Question Number : 134 Question Id : 8657991820 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify from the following, which 12 NOT a characteristic feature of Moneras.
806 o7& Fndore oFmo 520 A HBoHes.
Options :
Cells have membrane bound nucleus.

Semren &:i50508 Soised) DA Gotron.

(=%

1. ¢

Single celled organisms.

3

0

) % S8 25en.

Move with the help of locomototy organs like flagella, ciha or hair like

structures.
3. %

Reproduce by splitting into two.

ra P = - ol = o
ol gfessd Botito 0P (eSS Iarow.

4. %



Question Number : 135 Question Id : 8657991821 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This fabric is uzed in book binding.

e TP - o TR R, WS B e
Zolohs® &Narfolathdod.

|

o
ol

uIm

e
3 1=y
g

L]

Options :
Bexene

=
oRe
[:%)

1. #

Canvas

Linen

a5

=1
loded



Question Number : 136 Question Id : 8657991822 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arrange the following stages of safe drinking water supply in a correct
sequence:
K888 el HoHoe ang,; Bob B¥od $85 Bos® il od:
A) Chlorination
mEo e

5 L n.:-c-..;ﬂ

et

B) Overhead tank
85638 ;05
) Aeration
JTAS
D) Tanl /Pond/River
&rr08 /B /56
E) Filteration
HErE
F) Taps
Seromen
Choosze the correct answer:
K08 SErrard) o8l

Options :

DECABF
1.¢

DCABEF
2. %

ABCDEF
3. %

DABCFE

4. %



Question Number : 137 Question Id : 8657991823 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statement/s 1s/are correct?

8ob arares® D8 /D H8%6,/D?

A)

When the diaphragm contracts, the volume of the chest cavity 1s
increased.

&o8darso éo%ﬁi’f}of_:‘ésfz.ﬁ:?;}, o8& Hrdo ffa:é@r a1Bimes0 0D h.

When the diaphragm contracts, the volume of the chest cavity 1=
decreased.

adbaaso éo%ﬁﬂoﬂéﬂgﬂ}, o8& HEto D?;Jéer 20051°€50 ﬁj@vﬁacﬁ.

When the diaphragm relaxes, the volume of the chest cavity 1s
decreased.

&i8De N0 SEDotNytD, o8 HS0 Cﬁj:-éé HBsIEs0 i‘é{“giﬁ:oﬁ.

When the diaphragm relaxes, the volume of the chest cavity 1s

increased.

sidaEeo DEDoRNg D, Tra BHirdo ’:Eux-’éé BP0 hiDeE0s.

ChGDSE‘ the COrrect answer:

= ey " - fi i
l.'\:_';j";s {'CEDJJ'EFFJDFJ; wotnS ob:

Options :

A only

ASrgah

A & Donly
A & D srEsd

A&C only

A& CirEa
3. ¢



B & D only

B & D &rd
4, ®

Question Number : 138 Question Id : 8657991824 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The constriction or dilation of the pupil of our eye 1s controlled by

£0% So8) Ears HoB loddo S 206 st B Troe Jdho@odathEiod

Options :

Peripheral Nervous System

5868065 & £553.
1. %

Autonomous Nervous System

H:0005° 88 8 $s
2. N
Central Nervous System
&

3. %

Enteric Nervous System

iy PN
A5 B
3 5

4, %

BEh



Question Number : 139 Question Id : 8657991825 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements.

Eob sryreh H850k.

A)  The Islets of Langerhans are responsible for the secretion of Insulin into
blood.
roiiBsER) H35en 55068 DHB0d; 5508 HdoSaltis Tiehdaon.

B) The level of blood sugar is inked with the cells of Islet of Langerhans.
3508 55,5 o eroribaFR) 050 Sref® SNAHE Gotnod.

Choose the correct answer:

-
B P @~ ook i
DC'._jl.'f} -N'QJFDTJT_JCPJ‘;_ w08 of:

Options :
Both ‘A’ & ‘B’ are correct and inter-related

‘A" & ‘B Botr £3589 $80M 558 Somotio 0A Sotron
1. ¢

Both ‘A’ & ‘B’ are incorrect

‘A’ & ‘B’ Coir $5858

only ‘A’ 1s correct

‘A’ S 5858

only ‘B’ 1a correct

B S 5058
4, ®



Question Number : 140 Question Id : 8657991826 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Some crops are ploughed back into the soil for providing nitrogen to soil. This
type of crops are called

2y Hotrow BBA Jodts hidtio oo o S BoboH). & 55

ey
2k
25
o
e
i
2

Options :
Organic crops.

Dopcdh Hoben.

1. ®
Commercial crops.
aredes; sodoen.
2. %
Feed crops.
S Hoéren.
3. %

Green manure crops.

FSTAR E:’“ég Dokien.

4.



Question Number : 141 Question Id : 8657991827 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements.
Sob e S8506.
A) Cochlea 1z a spiral shaped structure in the inner ear, having 3 parallel

tubes called Scala vestibuli, Scala media and Scala tympani.

4

. ” g .-.-5_\_/ o = ,-\.t"L L e =, =B oy
érﬁﬁ‘@t‘ﬁ_o 038 09 BAE" Got DD Juegso, B[O aEE Send, o7
— L

T e

..-l
[

N Oy (=0}

Er&0Tr 580 J7er Boird o Hendat 3 Sirost ered 5OA sotnob.
B) Pinna has Ceruminous (wax producing ) and Sebaceous glands.

DS VHWHT (Ddo 66,8 D) HBCH Derhad’ (Be) (Tothen Sotron.
Choose the correct answer:
Q20N Derrard othf ok

Options :

Both A & B are incorrect.

A & B Goilir 286508,

Only A is correct.

A SP D $858.

2. ®
Both A & B are correct.
A & B Botir $859.

3. ¢

Only B iz correct.



Question Number : 142 Question Id : 8657991828 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This animal builds dams across water streams.

R R - S S . Foru_ o
£ o 8 DaEiFe @hée&-a: D8 nob.

Options :

£
ar.
a1}

2. ¢

Meerkat

&

o=
e A
o3 8

bl
o

Tasmanian Dewvil

: B s = =
PP 00N Gald

: MCQ Option Shuffling : Yes



Question Number : 143 Question Id : 8657991829 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following disease 1s caused by virus?
8ob B D aesh 65 Ho Hihod?

Options :

Diphthemna

Fatala e

Malaria

o5 s oNni

Tuberculpsis

,
5400

AIDS

n

o0
[,

4. ¢

: MCQ Option Shuffling : Yes



Question Number : 144 Question Id : 8657991830 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The most external and first line of defence of our body 1s provided by

0¥ ¥800 v 5{'5 o8 Py s0Baln EED Y5 0P wobothds
Options
Skin
230 0
1. ¢
Whaite blood cells
8e 88 Seren
2. %
Eed blood cells
) B8 Sewren
3. %
Liver
TBEcho



Question Number : 145 Question Id : 8657991831 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement about science:

2Ry 10800 08N g HBodod:

Options :

The practice of science 1s a human activity.

DS Feesd WA Srid o Serdio.

1 % a_ o
There 12 an inherent limitation of science.
DRE o8 Froerds HBInE Sob.

2. %

Sclentists experiment to test their 1deas.

PHRgen 85 et S55om HB5008 NS Harred Barth.

= i

Science always provides absolute and final answers.

r

r\,E. D,F_u:w“ Sg:f_._d@;_ﬁ?f) Sobcin &b m&.J""C":'M @Jod) L_,-Cllﬁr



Question Number : 146 Question Id : 8657991832 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true about the problem-solving method?
SESTS) E’}Biﬂy‘j mié& 080 8oh oy “ué 25 Deso?
A) It promotes active learning by encouraging students to analyze and find
solutions.
(. oySe

36 DP;HoB HFROBEAS HBAW HBPTreD SR SIS GEEirosto mroe

SHHBN edkaed GP8eraod.
L. o (=5 nd -
B) It focuses primarily on rote memorization of facts without application.
58 [BEEHore SEted elronodhote w0 F‘btﬁ_}_i’;éqiggc"éﬂﬁoé Cﬁaﬁé D0,

C) It helps develop critical thinking and independent decision-making
56 hTES 86 5K HBAM SgoE Agcho B:HHI Jyeryor ©h,

ChGDSE‘ thE‘ COorrect answer
mﬁé {UMTT_F:'PJ* u:a.,Cl 05 Oin'

Options :

A & Bonly
A & B5r@d

1. ®

B &' C Gllly

B & C 5imgsad
2. %

A & Conly

A &T C |{1§{u)
3.9

AB&C



Question Number : 147 Question Id : 8657991833 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does BARC stand for in the context of scientific research in India?

el

=

il

VGO $88 58 Ho88.06° BARC @wod 0né?

eBE0Sos oo

i

02!

Options :
Bharat Agricultural Research Council

P08 wfge 86 625, TS

1. #
Bhabha Atomic Research Centre
erer wtrdns A5 Dok
2. B
Biological and Radiation Commission
adrer2dd @ok CAGHAS 8k
3. %

Board of Advanced Research in Chemistry

&
E
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":ng (=2 E.FE AxE. o g 8

£ B @EPrenn 0ol Sed SolD
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Question Number : 148 Question Id : 8657991834 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify from the following, the one that is NOT a basic process skill:

o

Eob arp8S” ariinE 580 S0 o0 raa MDbodof:
Options :

Observation

-
Cred

Jer

228
1. ®

Classification

/ﬁ:/ Ty
bylal=telx

2.8 °©
Measurement

e T
S enuDes

Defining Variables

4.9 | -



Question Number : 149 Question Id : 8657991835 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 5-E Learning model of the Constructivist approach. the 4t ‘E’ stands for

Qe e )8 AgrRo Glns, S-E &985:338 Haaorard®, 45 ‘E’ ol
Options
Explore
S Ealntatle
1. %
Elaborate
2ayesbodio
2.9
Engage

Qoo seRto

Explain

#

4 % ¥68BoBEo



Question Number : 150 Question Id : 8657991836 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher. while teaching the chapter ‘Mobility in Animals’, shows the images
of a walking monkey, a swimming fish, a crawling snake, a walking human
and a flying bird to her students. She then asks her students to reflect on the
physical features of the organism and their relative mobility. Which of the
following are hikely to be employed by students in answering?

ef arrdinoe, dphed ‘modHed’ Sedo’ edird; S8ddkh. e

Do $63 58, G 58 Tb, FT Fim. S4T SrEHD HOH AT B§ T,

aF

2,
Jgred dradoed. b 85 Ao £9 GnE) F°83 ofsron 586 5598 drko

L -1}

18 @85)ohoii e, Jirpraren adtod” Aurden & Sob EE” J0d

A)  Experimenting
wErrren BdhEo

B)  Observing
5888080

C)  Inductive reasoning
@D 850

D)  Deductive reasoning
Q0D 860

Choose the correct option:

H0W Sarrard; wowhs ol:

(=S

Options :



(C) and (D) only
(C) 86 (D) sr@sh

(A) and (D) only

(A) $:600 (D) &rEs
4. %



